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6. Why aren't the sisters getting any presents this year?
1. The family have run out of money.
2. The sisters have been naughty.
3. Presents can be easily sacrificed.
4.7To show respect for their soldiers.

= a land2
< b. 1and3
< c 1anda
©d. 2and3
> e 3anda

7.What is ‘Undine and Sintran’ most likely to be (line 21)?
© a.a children’s game
< b.adoll
< c.a special football
= d.achair
= e.abook

8. Whoiis the youngest sister?
= a.Amy
< b.Beth
= c.Meg
> dJo
& e. Itis not possible to infer from the passage,

9. Which of the following is the best antonym for impertinent’
= a.rude
< b. polite
= c.intelligent
= d. quirky
= e.young

in line 427

10. Which of the following is true?

© a. The family was always poor.
© b. The family was always rich,
© c. The family was never happy,
© d. The family used to be richer.
S e. The family used to be poorer




